P194 3 HOEHE
(BENHIITES L0y, #EROBISLETHWNOTIE?)

CIERD AR

ERORFRIZ, BRO¥FEr & LT,

Bl1 FEE6cmdDE X r==6

4 4
V=—pgx 63 =—px 6x 6x 6 =28 8
3 3 (cm?)

1
(1) 3 cm r=3
4
V=—px 3x 3x 3=36q
3 (cm?)
(2) E£8 cm r=4
4 2565
V=—qgx 4% 4x 4 =—"7""
3 3 (cm?)
COER DK HIFH
S:4nr2

ERoFEBIL, BROFFEr & LT,

Bl 2 6 cm r==6

S=4px 62=144q (cm?)

2
(1) ¥%3cm r=3

S=4px 32=3 6 (cm?)



(2) E£8 cm r=4

S=4pgx 42=64n (cm?)

«

o [

—

1 2000
(7) P V:?Hx 102x ZO:—H

(1) Ek v:%nx 103=

(%) Mk V=mx 102x 20=2000g

() & (7)) D2 (7) 1% (7) 3%



O

o200

[T
o b l.c'uu‘ N
<. l\} ez
e

o L0
\ it B Ll

i Fee (S8

. TS

o ST IFBA TmdT 3470

i - f,. [
© Ay hX = =1d T

\
o

\ Losin
v ot .
\/ = in,.),; .’,‘ N -l: - 7 T ;«.,6';{ fy e (,; o
2 I a g

o

P



